

On Variational Inequality and Fixed Point Problems

LU Ai-xia¹, WANG Qing-ling²

(1. *Department of Mathematics and Information Sciences, Professional College of Bohai Petroleum, Renqiu 062552, China*; 2. *Department of Mathematics, Kaifeng Institute of Education, Kaifeng 475000, China*)

Abstract: In this paper, A strong convergence theorem for a finite family of nonexpansive mappings and relaxed cocoercive mappings based on an iterative method in the framework of Hilbert spaces is established.

Key words: contraction; fixed point; nonexpansive mapping; variational inequality

2000 MR Subject Classification: 47H09, 47J25

CLC number: O177.91 **Document code:** A

Article ID: 1002-0462 (2011) 02-0208-05

§1. Introduction

Throughout this paper, we always assume that H is a real Hilbert space, whose inner product and norm are denoted by $\langle \cdot, \cdot \rangle$ and $\| \cdot \|$ respectively. Let C be a nonempty closed and convex subset of H and let $A : C \rightarrow H$ be a nonlinear mapping. The classical variational inequality problem, which denoted by $VI(C, A)$, is to find $u \in C$ such that $\langle Au, v - u \rangle \geq 0$ for all $v \in C$. A is said to be relaxed (u, v) -cocoercive if there exist two constants $u, v > 0$ such that $\langle Ax - Ay, x - y \rangle \geq (-u)\|Ax - Ay\|^2 + v\|x - y\|^2$, for all $x, y \in C$. Recall that a mapping $T : C \rightarrow C$ is said to be nonexpansive if $\|Tx - Ty\| \leq \|x - y\|$ for all $x, y \in C$. The fixed point of T is denoted by $F(T)$.

Iterative methods are efficient tool in nonlinear analysis and optimization theory. Many well-known problems arising in various branches of science can be studied by using algorithms which are iterative in their nature; see, for example, [1-4].

Received date: 2008-05-05

Biography: LU Ai-xia(1972-), female, native of Renqiu, Hebei, a lecturer of Professional College of Bohai Petroleum, engages in nonlinear analysis.

In this paper, an iterative algorithm is considered for the the problem of finding a common element in the fixed point set of nonexpansive mappings and in the solution set of variational inequalities. Define a mapping W_n by: $U_{n0} = I$ and

$$\begin{aligned} U_{n1} &= \lambda_{n1}T_1U_{n0} + (1 - \lambda_{n1})I, \\ U_{n2} &= \lambda_{n2}T_2U_{n1} + (1 - \lambda_{n2})I, \\ &\cdots, \\ W_n &= U_{nN} = \lambda_{nN}T_NU_{n,N-1} + (1 - \lambda_{nN})I, \end{aligned} \quad (1.1)$$

where $\{\lambda_{n1}\}, \{\lambda_{n2}\}, \dots, \{\lambda_{nN}\} \in (0, 1]$. Such a mapping W_n is called the W -mapping generated by T_1, T_2, \dots, T_N and $\{\lambda_{n1}\}, \{\lambda_{n2}\}, \dots, \{\lambda_{nN}\}$. Nonexpansivity of each T_i ensures the nonexpansivity of W_n . It is proved that $F(W_n) = \bigcap_{i=1}^N F(T_i)$; see [1] for more details.

Based on the mapping W_n , a strong convergence theorem of common elements is established. In order to prove our main results, we need the following lemmas.

Lemma 1.1^[5] Let $\{x_n\}$ and $\{y_n\}$ be bounded sequences in a Banach space and let $\{\beta_n\}$ be a sequence in $[0, 1]$ with $0 < \liminf_{n \rightarrow \infty} \beta_n \leq \limsup_{n \rightarrow \infty} \beta_n < 1$. Suppose $x_{n+1} = (1 - \beta_n)y_n + \beta_nx_n$ for all integers $n \geq 0$ and $\limsup_{n \rightarrow \infty} (\|y_{n+1} - y_n\| - \|x_{n+1} - x_n\|) \leq 0$. Then $\lim_{n \rightarrow \infty} \|y_n - x_n\| = 0$.

Lemma 1.2^[6] Assume that $\{\alpha_n\}$ is a sequence of nonnegative real numbers such that $\alpha_{n+1} \leq (1 - \gamma_n)\alpha_n + \delta_n$, where $\{\gamma_n\}$ is a sequence in $(0, 1)$ and $\{\delta_n\}$ is a sequence such that $\sum_{n=1}^{\infty} \gamma_n = \infty$ and $\limsup_{n \rightarrow \infty} \frac{\delta_n}{\gamma_n} \leq 0$. Then $\lim_{n \rightarrow \infty} \alpha_n = 0$.

§2. Main Results

Theorem 2.1 Let $A : C \rightarrow H$ be a relaxed (u, v) -cocoercive and μ -Lipschitz continuous mapping. Let $f : C \rightarrow C$ be a contraction with the coefficient α , where $0 < \alpha < 1$ and T_i , where $i = 1, 2, \dots, N$, a nonexpansive mapping. Assume that $\Upsilon = \bigcap_{i=1}^N F(T_i) \cap VI(C, A) \neq \emptyset$. Let $x_1 \in C$ and $\{x_n\}$ a sequence generated in the following algorithm

$$x_{n+1} = \alpha_n f(W_n x_n) + \beta_n x_n + \gamma_n W_n P_C(I - r_n A) P_C(I - s_n A) x_n, \quad n \geq 1,$$

where W_n is defined by (1.1), $\{\alpha_n\}$, $\{\beta_n\}$ and $\{\gamma_n\}$ are sequences in $(0, 1)$. Assume that $\{\alpha_n\}$, $\{\beta_n\}$, $\{\gamma_n\}$, $\{\lambda_n\}$, $\{r_n\}$ and $\{s_n\}$ are chosen such that $\alpha_n + \beta_n + \gamma_n = 1$; $\lim_{n \rightarrow \infty} \alpha_n = 0$; $\sum_{n=1}^{\infty} \alpha_n = \infty$; $0 < \liminf_{n \rightarrow \infty} \beta_n \leq \limsup_{n \rightarrow \infty} \beta_n < 1$; $\lim_{n \rightarrow \infty} |r_{n+1} - r_n| = 0$; $\lim_{n \rightarrow \infty} |s_{n+1} - s_n| = 0$; $\{r_n\}, \{s_n\} \in [a, b]$ for some a, b with $0 < a < b < \frac{2(v-u^2)}{2}$; $\lim_{n \rightarrow \infty} |\lambda_{n,i} - \lambda_{n-1,i}| = 0$, for all $i = 1, 2, \dots, N$. Then $\{x_n\}$ converges strongly to $q \in \Upsilon$, where $q = P_{\Upsilon} f(q)$.

Proof Since A is relaxed (u, v) -cocoercive and Lipschitz continuous, we see that $I - r_n A$ and $I - s_n A$ are nonexpansive. Letting $p \in \Upsilon$, we arrive at

$$\|x_{n+1} - p\| \leq [1 - \alpha_n(1 - \alpha)]\|x_n - p\| + \alpha_n\|p - f(p)\|,$$

which implies that the sequence $\{x_n\}$ is bounded. Notice that

$$\|x_n - x_{n+1}\| \leq \|x_n - x_{n+1}\| + M_1(|s_{n+1} - s_n| + |r_{n+1} - r_n|),$$

where M_1 is an appropriate constant. Putting $l_n = \frac{x_{n+1} - \beta_n x_n}{1 - \beta_n}$ and $y_n = P_C(I - r_n A)P_C(I - s_n A)x_n$, we see that

$$\begin{aligned} & \|l_{n+1} - l_n\| - \|x_{n+1} - x_n\| \\ & \leq M_2(|s_{n+1} - s_n| + |r_{n+1} - r_n| + 2 \sum_{i=1}^N |\lambda_{n+1,i} - \lambda_{n,i}|) \\ & \quad + (\|f(W_n x_n)\| + \|W_n y_n\|) \left| \frac{\alpha_{n+1}}{1 - \beta_{n+1}} - \frac{\alpha_n}{1 - \beta_n} \right|, \end{aligned}$$

where M_2 is an appropriate constant. It follows that $\limsup_{n \rightarrow \infty} (\|l_{n+1} - l_n\| - \|x_{n+1} - x_n\|) \leq 0$. In view of Lemma 1.1, we see that $\lim_{n \rightarrow \infty} \|l_n - x_n\| = 0$. It follows that $\lim_{n \rightarrow \infty} \|x_{n+1} - x_n\| = 0$. On the other hand, we have

$$x_{n+1} - x_n = \alpha_n(f(W_n x_n) - x_n) + \gamma_n(W_n y_n - x_n).$$

It follows that $\lim_{n \rightarrow \infty} \|W_n y_n - x_n\| = 0$. Put $z_n = P_C(I - s_n A)x_n$. For each $p \in \Upsilon$, we see that

$$\|z_n - p\|^2 \leq \|x_n - p\|^2 + (2s_n u + s_n^2 - \frac{2s_n v}{\mu^2}) \|Ax_n - Ap\|^2$$

and

$$\|y_n - p\|^2 \leq \|x_n - p\|^2 + (2r_n u + r_n^2 - \frac{2r_n v}{v^2}) \|Az_n - Ap\|^2.$$

On the other hand, we have

$$\|x_{n+1} - p\|^2 \leq \alpha_n \|f(W_n x_n) - p\|^2 + \|x_n - p\|^2 + \gamma_n (2r_n u + r_n^2 - \frac{2r_n v}{\mu^2}) \|Az_n - Ap\|^2.$$

This implies that $\lim_{n \rightarrow \infty} \|Az_n - Ap\| = 0$. In a similar way, we can show that $\lim_{n \rightarrow \infty} \|Ax_n - Ap\| = 0$. In view of $\lim_{n \rightarrow \infty} \|W_n y_n - x_n\| = 0$,

$$\|y_n - p\|^2 \leq \|x_n - p\|^2 - \|z_n - y_n\|^2 + 2r_n \|z_n - y_n\| \|Az_n - Ap\|$$

and

$$\|z_n - p\|^2 \leq \|x_n - p\|^2 - \|x_n - z_n\|^2 + 2s_n \|x_n - z_n\| \|Ax_n - Ap\|,$$

we can obtain that $\lim_{n \rightarrow \infty} \|W_n x_n - x_n\| = 0$. Observe that $P_C f$ is a contraction. Indeed, for $\forall x, y \in C$, we have

$$\|P_f(x) - P_C f(y)\| \leq \|f(x) - f(y)\| \leq \alpha \|x - y\|.$$

Banach's contraction mapping principle guarantees that has a unique fixed point, say $q \in H$. That is $q = P_F f(q)$.

Next, we show $\limsup_{n \rightarrow \infty} \langle f(q) - q, x_n - q \rangle \leq 0$. To show it, we choose a subsequence $\{x_{n_i}\}$ of $\{x_n\}$ such that

$$\limsup_{n \rightarrow \infty} \langle f(q) - q, x_n - q \rangle = \lim_{n \rightarrow \infty} \langle f(q) - q, x_{n_i} - q \rangle.$$

As $\{x_{n_i}\}$ is bounded, we have that there is a sequence $\{x_{n_{i_j}}\}$ of $\{x_{n_i}\}$ converges weakly to p . We may assume, without loss of generality, that $x_{n_i} \rightarrow p$. It follows that $z_{n_i} \rightarrow p$. Hence we have $p \in \Upsilon$. Indeed, let us first show that $p \in VI(C, A)$. Put

$$Tw_1 = \begin{cases} Aw_1 + N_C w_1, & w_1 \in C, \\ \emptyset, & w_1 \notin C. \end{cases}$$

Since A is relaxed (u, v) -cocoercive and μ -Lipschitz continuous, we have

$$\langle Ax - Ay, x - y \rangle \geq (-u)\|Ax - Ay\|^2 + v\|x - y\|^2 \geq (v - u\mu^2)\|x - y\|^2 \geq 0,$$

which yields that A is monotone. Thus T is maximal monotone. Let $(w_1, w_2) \in G(T)$. Since $w_2 - Aw_1 \in N_C w_1$ and $y_n \in C$, one has $\langle w_1 - y_n, w_2 - Aw_1 \rangle \geq 0$. On the other hand, we see from $z_n = P_C(I - s_n A)x_n$ that $\langle w_1 - z_n, z_n - (I - s_n A)x_n \rangle \geq 0$ and hence $\langle w_1 - z_n, \frac{z_n - x_n}{s_n} + Ax_n \rangle \geq 0$. It follows that

$$\begin{aligned} & \langle w_1 - z_{n_i}, w_2 \rangle \\ & \geq \langle w_1 - z_{n_i}, Aw_1 \rangle \\ & \geq \langle w_1 - z_{n_i}, Aw_1 - \frac{z_{n_i} - x_{n_i}}{s_{n_i}} - Ax_{n_i} \rangle \\ & = \langle w_1 - z_{n_i}, Aw_1 - Az_{n_i} \rangle - \langle w_1 - z_{n_i}, Az_{n_i} - Ax_{n_i} \rangle + \langle w_1 - z_{n_i}, \frac{z_{n_i} - x_{n_i}}{s_{n_i}} \rangle \\ & \geq \langle w_1 - z_{n_i}, Az_{n_i} - Ax_{n_i} \rangle - \langle w_1 - z_{n_i}, \frac{z_{n_i} - x_{n_i}}{s_{n_i}} \rangle, \end{aligned}$$

which implies that $\langle w_1 - p, w_2 \rangle \geq 0$. We have $p \in T^{-1}0$ and hence $p \in VI(C, A)$.

Next, let us show $p \in \bigcap_{i=1}^N F(T_i)$. Since Hilbert spaces are Opial's spaces, we have

$$\begin{aligned} & \liminf_{i \rightarrow \infty} \|x_{n_i} - p\| \\ & < \liminf_{i \rightarrow \infty} \|x_{n_i} - W_n p\| \\ & = \liminf_{i \rightarrow \infty} \|x_{n_i} - W_n x_{n_i} + W_n x_{n_i} - W_n p\| \\ & \leq \liminf_{i \rightarrow \infty} \|W_n x_{n_i} - W_n p\| \\ & \leq \liminf_{i \rightarrow \infty} \|x_{n_i} - p\|, \end{aligned}$$

which derives a contradiction. Thus we have $p \in \bigcap_{i=1}^N F(T_i)$. This in turn implies that

$$\limsup_{n \rightarrow \infty} \langle f(q) - q, x_n - q \rangle = \lim_{n \rightarrow \infty} \langle f(q) - q, x_{n_i} - q \rangle = \langle f(q) - q, p - q \rangle \leq 0.$$

On the other hand, one has

$$\begin{aligned} & \|x_{n+1} - q\|^2 \\ & \leq \|\beta_n(x_n - q) + \gamma_n(W_n y_n - q)\|^2 + 2\alpha_n \langle f(W_n x_n) - q, x_{n+1} - q \rangle \\ & \leq (1 - \alpha_n)^2 \|x_n - p\|^2 + \alpha_n (\|x_n - q\|^2 + \|x_{n+1} - q\|^2) \\ & \quad + 2\alpha_n \langle f(q) - q, x_{n+1} - q \rangle. \end{aligned}$$

It follows that

$$\begin{aligned} & \|x_{n+1} - q\|^2 \\ & \leq \frac{1 - (2 - \alpha)\alpha_n + \alpha_n^2}{1 - \alpha\alpha_n} \|x_n - q\|^2 - \frac{2\alpha_n}{1 - \alpha\alpha_n} \langle f(q) - q, x_{n+1} - q \rangle \\ & \leq \frac{1 - (2 - \alpha)\alpha_n}{1 - \alpha\alpha_n} \|x_n - q\|^2 - \frac{2\alpha_n}{1 - \alpha\alpha_n} \langle f(q) - q, x_{n+1} - q \rangle + M_3\alpha_n^2 \\ & = (1 - l_n) \|x_n - q\|^2 + \frac{2(1 - \alpha)\alpha_n}{1 - \alpha\alpha_n} t_n, \end{aligned}$$

where M_3 is an appropriate constant,

$$l_n = \frac{2(1 - \alpha)\alpha_n}{1 - \alpha\alpha_n} \text{ and } t_n = \frac{M_3(1 - \alpha\alpha_n)\alpha_n}{2(1 - \alpha)} + \frac{1}{1 - \alpha} \langle f(q) - q, x_{n+1} - q \rangle.$$

In view of Lemma 1.2, we can conclude the desired conclusion immediately. This completes the proof.

If $f(x) = u$, where $u \in C$ is a fixed element, then we have the following Halpern-type iterative algorithm.

Corollary 2.1 Let $A : C \rightarrow H$ be a relaxed (u, v) -cocoercive and μ -Lipschitz continuous mapping. Let T_i , where $i = 1, 2, \dots, N$, be a nonexpansive mapping. Assume that $\Upsilon = \bigcap_{i=1}^N F(T_i) \cap VI(C, A) \neq \emptyset$. Let $x_1 \in C$ and $\{x_n\}$ be a sequence generated in the following algorithm

$$x_{n+1} = \alpha_n u + \beta_n x_n + \gamma_n W_n P_C(I - r_n A) P_C(I - s_n A) x_n, \quad n \geq 1,$$

where W_n is defined by (1.1), $\{\alpha_n\}$, $\{\beta_n\}$ and $\{\gamma_n\}$ are sequences in $(0, 1)$. Assume that $\{\alpha_n\}$, $\{\beta_n\}$, $\{\gamma_n\}$, $\{\lambda_n\}$, $\{r_n\}$ and $\{s_n\}$ are chosen such that $\alpha_n + \beta_n + \gamma_n = 1$; $\lim_{n \rightarrow \infty} \alpha_n = 0$; $\sum_{n=1}^{\infty} \alpha_n = \infty$; $0 < \liminf_{n \rightarrow \infty} \beta_n \leq \limsup_{n \rightarrow \infty} \beta_n < 1$; $\lim_{n \rightarrow \infty} |r_{n+1} - r_n| = 0$; $\lim_{n \rightarrow \infty} |s_{n+1} - s_n| = 0$; $\{r_n\}, \{s_n\} \in [a, b]$ for some a, b with $0 < a < b < \frac{2(v-u^2)}{2}$; $\lim_{n \rightarrow \infty} |\lambda_{n,i} - \lambda_{n-1,i}| = 0$, for all $i = 1, 2, \dots, N$. Then $\{x_n\}$ converges strongly to $q \in \Upsilon$, where $q = P_{\Upsilon} u$.

[References]

- [1] ATSUSHIBA S, TAKAHASHI W. Strong convergence theorems for a finite family of nonexpansive mappings and applications[J]. Indian J Math, 1999, 41: 435-453.
- [2] QIN Xiao-long, CHO Y J, KANG S M. Convergence theorems of common elements for equilibrium problems and fixed point problems in Banach spaces[J]. J Comput Appl Math, 2009, 225: 20-30.
- [3] IIDUKA H, TAKAHASHI W. Strong convergence theorems for nonexpansive mappings and inverse-strongly monotone mappings[J]. Nonlinear Anal, 2005, 61: 341-350.
- [4] ZHANG Shi-sheng, JOSEPH Lee H W, CHAN C K. A new method for solving equilibrium problem fixed point problem and variational inequality problem with application to optimization[J]. Nonlinear Anal, 2009: 3307-3319.
- [5] SUZUKI T. Strong convergence of krasnoselskii and manns type sequences for one-parameter nonexpansive semigroups without bochner integrals[J]. J Math Anal Appl, 2005, 305: 227-239.
- [6] XU Hong-kun. Iterative algorithms for nonlinear operators[J]. J London Math Soc, 2002, 66: 240-256.